Caen 32/

o Please check that this question paper contains 7 printed pages + 2 Maps.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the serial number of the question before attempting it.
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General Instructions :

1. Answers to questions carrying 2 marks should not exceed 30 words each.
Answers to questions carrying 4 marks should not exceed 60-80 words each.
Answers to questions carrying 6 marks should not exceed 100-125 words each.
Maps should be securely tied in the middle of the Answer-Book.

Attempt all parts of a question together.
Stencils or templeates for drawing outline maps may be used wherever necessary.
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Mention the significance of our heritage of the colonial period. 2

AMfafde & & B foEd @ Heww 9qiEy |

Distinguish between tangible heritage and intangible heritage. 2
T foREd iR ord foved § o aaRu |

Why is a dense network of railway transport found in North Indian Plains ? Explain two
reasons. 2x1=2

T 9RT & HeHl H YA qRded & gET A Fb 9 o € 7 &l ROl hl T
HIT |

Why is animal husbandry very important for Indian farmers ? Explain two points in this
regard. 2x1=2
IR framl & oo agures 9gd @yl @ & » 39 dew | 1 fage & amen
T |

Write two main features of wetland farming. 2x1=2
s FY A ge fAaguand fafa )
State two major problems faced by road transport in India. 2x1=2

WRd  F3E uRaET A A W aHEnt adE |

Which are the two main beverage crops of India ? Name the major producing state of
each crop. 1+1=2
ARA & & T@ U9 ®ad HEAl & 7 YAd BAA H II@ IdEH AT B AW
ERIE

Study the table given below and answer the questions that follow : 1+1=2
National Highway No| Length (in km) efminal Stations
2 1465 Delhi — Kolkata
5 1533 Chennai — Jharpokhria (Orissa)
7 2369 \aranasi — Kanyakumari
15 1526 Pathankot — Samakhiali (Kuchchh)

(8.1) Which is the longest National Highway ? What is the general direction of this
National Highway ?

(8.2) Name the terminal stations of National Highway No. 5. How far is Kolkata from
Delhi by road route ?
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I & T2 GRON H ST T X IgH A9 U U 9ot & SR & ¢

TS WM den | @R ([ W) AT WA
2 1465 fewll — eRIdehrr
5 1533 I9E — sRUmERar (I
7 2369 AR —  HATRART
15 1526 UoThie — TARAT (H)

(8.1) TIY THET TSI WEMI HFET & 7 30 T He™m &1 b fegm & faemr & 2
(8.2) TSI WMl GEAT 5 & Afeaw WM & 9 IAET | 3 G &N Hieh ol

T ®E 2

Explain the main features of a socialist economy.
TUF qANEE ASFaET B eI fagman T i |

Mention any two features of developed countries.

foentar a9 0 hig & [Auarst @l Iwi@ iy |

What is meant by sustainable economic development ? Give its main feature.

gl i faer & war iU & 7 sHe e fasivar aarey |

“Skill development can reduce pressure of unemployment on the Indian economy.” Justify

this statement with examples.

“HITA TR A aRr W ST % 9 bl B B § GEdd 8 gahdl

T I ISEROT THL T HAT bl gfe HifoTg |

“Liberalisation and Globalization policy has had negative effects on the Indian economy.”
Explain briefly with two examples.

“TERIHTT ST AATHIOT T T YRATT TR R TR THT U1 & | &7 Sereon

gied 98T H ST BT |

2x1=2

2

2

State the main forms of Indian Classical dances. Give one main difference between

Kathak dance and Kathakali dance.

AR e JAf % II@ YR JaeU | 9% Jd AR wghdl g § Th & 3

dqTT |

Describe the contribution of Sant Tukaram and Sant Narsi

Movement.

3+1=4

Mehta in the Bhakti

4

State any two important features each of the Western Ghats and Eastern Ghats of India.

A JERM IR Tl H8al & Afh A= # ARG &l aU Bt |

CLE |
IRA & UREHl 912 R qdf a1 § § YA B hle & Aol fIuant qadres |



16.

17.

18.

19.

20.

21.

22.

23.

Why is the scarcity of water increasing day-by-day in our country ? Give four reasons.
4x1=4
BANW <7 § @ &7 o979 GfafeT @R dgar & @M & ? IR SR i

Differentiate between Revolutionaries and Terrorists. 4

FI~aRal 3T STahaieal & Hed 3TY TS HifwT |

Explain various ways by which consumers are exploited by the producers or wholesalers.
IR AT ok fhdrell BRT SUHIRIA %l MUd FA H (AT Jwl e

FHITT |

Define “Brain Drain”. Mention two reasons for the brain drain from India. 4
“gfHT T’ Wl GRHST T YRA § Gi0HT 9dR B % & BRI AT Iedd

T |

Explain the measures adopted by the government for the protection of natural
environment specially forests, lakes, rivers and wild animals. What was the effect of
these measures ? 4+2=6
TWHR BRI Wipfos qatarer fagud: s, sfial, afedl ok a1 Sl & a@ewr & fag

YT T IUTAT T ARAT BT | 37 ST T FAT THE BT 2

What are conventional sources of energy ? Why is water, as a source of energy, more
important than coal and petroleum ? Explain four points in this regard. 2+4=6

OR
What are non-conventional sources of energy ? Why do the non-conventional sources of
energy have a bright future ? Give four reasons.

TRETT Soff & d1e9 T € ? Od, Jfth & 9reM & ®9 §, HEdr R Ugifaew |
HAftres wewyel Hf ¢ 7 39 ded # IR fNget @ ' #if |

Har
TR-URATT Sl & e 7 & 7 IR-IFRR Soff & el 6l Aiasd Isead a4l
g ? AR RO AT |

How does industrial pollution degrade the environment ? Explain three measures to
control environmental degradation. 3+3=6

STENfTeh guor yataRer i fhd YR i &ear & 7 iR & fiieeeor & it
FH A AT SUE BT T BT |

What is resource planning ? What is the need for planning of resources ? Describe the
three stages involved in resource planning. 1+2+3=6
gareq e | & 2 g9eEl & NEe B /T SIaededr & 2 g9ree S $ode

T BT G HITT |

4
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What is meant by communalism ? Mention the causes for the growth of communalism in
India. Suggest two remedies to overcome this problem in India. 6
OR

Explain the provisions made in the Indian Constitution for safeguarding the interests of
Other Backward Classes (OBC) and weaker sections of the society.

AEYEIIeal § 7 A9 & ? YRA § AFUIehdl & d¢d & HRON B Iwid
FINT | R § 30 91 W a1 & & o & U geimeu |

gt
AT & w9 qer o fuest Shfadl & f&dl @l guerd e & o wrar dfaem
H fhd T grEeEl H AT RN |

What are old age problems ? State any four old age problems and measures taken by the
government to protect old aged people from them. 6

OR
Explain the problems of child abuse. Mention the provisions provided in the
Constitution of India for the protection and development of the child.
ST HETE T & ? Ble aR A IR Jaisy a7 AR R g8 Nl @l
TTH GEOT &7 & oI U T ALkl bl ATEAT Hif] |

Hqq
A IR BN FHETA B ATEAT HINC | Fedl & e AR ™ & ol arde
gfaeg § Mied gaeEl # Iwi@ S |

Explain the factors which have contributed towards gender inequality. State the
measures which have been taken to improve the social and economic status of women in

India. 6

< AT &0 SGMET & dTd el Tl RN HINC | HRG | Afears & qHh
Td oM T A URA & T fpw U SurEl w aanEy |

(@ On the given outline political map bfdia (on page 9), locate and label the two
states having the following monuments : 2%x1=2

() Kamakhya Temple

() Tipu Sultan’s Palace

(b) In the given outline political map ofindia (on page 11) are shown three
geographical features marked A, B, C. Identify these features and write their names

in the space provided. 3x1=3



(c) In the same given outline political maplodia (on page 11), locate and label the
following features and attach the map in your answer book : 3x1=3

() Kochi Oil Refinery
() Durgapur Iron and Steel Plant
(i) Kandla Seaport

(%) &U T WRA & ASHITAS W-AERE (Y5 9) T 3T &l Al I IBdHHRT b AH
fafen e f=fafeg @ me faa 2
() AT AR
() g g BT AR

(@) U TU wRA B ToEGE W-AERE (I 1) § di9 difhs @eor &, @, T
femm ¥ 3 @Eel A geAtg g fiu ww sy wosas AW fafae

() =& fw U ARA B AoEifas AR (I 1) § el @i @ Rl
fearEy R o W fafay don 9 At & Sa-gRaw § e R
() @ife do qReRTeITEr
(i) I T SR T wIT

(i) przaT T

Note: The following question is for the Blind Candidates only in lieu of Q. No. 27 (a),
(b) and (c).

i : fr=fafaa go7 daw gftedi qhenEar & fag g97 aer 27 (%), (@) ok (7) &
T T2

(@) Write the names of the two states in which the following monuments are situated :
() Kamakhya Temple
() Tipu Sultan’s Palace

(b) () Name any one Software Technology Park, located in Andhra Pradesh.
() Name the thermal power station of Madhya Pradesh, bordering Chhatisgarh.
(i) Name any one international airport of Kerala.
(v) Name the oil refinery located in the easternmost part of Assam.
(v) Write the name of any one iron and steel plant, located in West Bengal.

(i) Name the major seaport of Gujarat. 6



(@) 3 At & 9 faRae e Fefafea § @ uh-ue s e Ruad §
() @FHrET |
@ &Y g B A
(@) () oner geor § Red Ry s dieeday qEnfie 9t & AW 9qiEt |
(i) wEETE & dmrEdt g gfte G4 B AW G A 7 gew  Red ¥
(i) *T & fRET UH ARG AG-0T HT A Ty |
(v) 399 & a9 qat 99 H Re| od qReRoTer w1 AW g |
(v) ufyew dma # Req el U @l iR Serd 63 &1 AW Jarsy |
(Vi) T & YHE FHE-ITE B A SdiEy |



For question no, 27 (a)
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For question no. 27 (b) and (¢)
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